01 | By 9. (57), dowling Ta mill dontite
it , Thus mensapmt, the - w i, The
jﬁﬂwm% @deﬁmﬁﬁp ¢
IN,MMW@M'W V[ and the
dudtiim . oy aidl affect doadiif cf%, i

| tho it -slage ontpndd- aucient

6wt M e thad thi dow o The slewr rale

52 | R,=10R, . With Rp=R\/fRy =081 R, in
F&“‘"; Eopmary = (e (RY (R R=) Tos(many =
1% 0.81R, x200x 1071 = 10x107%, This a&eﬁds
Ri=5K L. Use Ri=Hh989 kR, Bo= 49,91 and
Rp= U453 KR, Sl l%

53 | @) Supprese L amd find Boe RTp= 10107 =
ROV R gV R 3y B Gy TV

_I__;> EO:SMV

(b) W&naapw?ﬂ Mﬂwm{iwa
e A= 1% V. Wethuo meed RpTs= B »V)(13
= Rp= 6.5 kil (USQ, YA PJL). |




20 k QL 50k Gokn ~

> - D a~
= Bp= 250 x10° In qll—to:ao 1r

Wit Tp =105 mh amel Ty = 5 uh me et
Eo= 1005 mV mith Tp =45 mA amd Ty
=105 mA N\){%v/t' E, = LY38 mV. We Thur
aepect Bo mbﬁummﬂml%agp |.005 mV &
1438 mV. With Tos 20, €y 1. 2 mV.

5.5

o, B UN o U Bl Ve
Un=Ve ; =Lt S aamry

 Ip=Ty e |
Iy >J = Tp + Tp2 - V2 /Ry
b i : . o~

=% = Tpi+Tr - Rewe /B
Tpz | = (o) For matched op Amps
ov o>V, Tr= 2Tp ~(Re/R)Ty
et = (-G /)T
& 7 =20, .

(b) Ascume Tp=Tg , Tp,= Tnz=Ta (120.00).
Thim Tr= Tg + Ty (110.00)-2 Tg ([f_a,m) = F0.0115,
& e ' |
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The ptponce. of, the Jnds amel At cumadts does
Ma/fM%L/Z%W,/MM wf,ecft Lp=
A(/D-Q"M)” /UZ_/I?O 'f'Ioj A= Rz/l?,ﬁ;‘/ R, =CO.
To e the o Lo, consider The careof ar
shot-ciouit fowd for moplicly. Then,
Vi =Ry Ing + (14 R [R) [~ (Ri/R2) Tpy | = ~Re Lo,
To=Ts~Tp, =V1/Rs-Tpp =~ (Rz/Rg)l‘os,e Tp, .
Wbt T, = A [-( R Tosit R Tpg Rs/Re)] wnc -
colts tﬂb}aﬂwﬂt’.’@ of am WWW_
9.80'/ WL Ep =Ry [ Losi +m§/f€2>7;57_:]. -

To mnahe the preond. tom. il to

Ks v, Tosa [LaﬁﬂLtﬂ.,aﬂyIBZ} n—

INz Rc; SM&M Wao{c,

2 @ — neocstemce Ry, s shown.
" | -:.%LO W‘; Vyz-Ry Log) + K5 Tne
_ =KeLog) + R5Ty Rz .
o= | IK:;- Z“IPZ'"' ™ Re L0st ~losz

Er=-Ry[Tos + (Re/ ’25) IOSL—.] .




51%&6@/’/ Mﬂ.’//lﬂ‘/ ‘CO:A"L‘I ~VL/Ro 'i—ro) A=
[+Rz[R., Ro=0. To :?Vt;lé{, ngmwﬁdwza,shozt-

LV Ry O-;Z\/o :IN'*‘IO'—'?IO:"(‘%*IN)
I - = ‘
ey BT et e, -
IP? Re - RpIp +R2IN.
> Eﬂumunaﬁmg Vo 54”9)
R R\~ ; = =
%:—R;IP-(’I‘!-T&).LN. With Rp=0 meget To

~(1+Re/R) T3 wwl,ucaia.% an me\dﬁ

R I, =-Tw, Mﬂﬂdxhq M holamce

RP; R+K7 GéfiMf) Teo= (HVZ/R;)”JZO-S'J %@J’LM W-
QM/VVLM/OUW I’.T_ =Los.

50 Ra At de Caps = opom. ckts.

Eo= (H' %)vl + 1y

V=1tV = R?.IN“‘RPIP
Mgvn Eo= (H‘ %)[(R?A- Ry IR T — RPIP] .
Without Rp, o % (1+RsR) (R +RI\RS)TE = 2.5

(80 x10? x 50x16™1 = 15 m V. qutgﬂﬂwg_ /Q/,dlbwmlj V¢ ~

Wolamee Rp = Rz + Rl = 150 k5L atner Eo =
- (H’ %)(Kzf&“[ﬁ)fgg :-300>‘~lo—5~__l,os :




501 [\, = €0/ 1R /R)= o.s/(|+33/0~0 =

lSlmV |
E (‘t)" -Vé)st_

0 >t L x1SixI6 2 = 5.2k,
(o 0%6!5 : o Sx\0

e mdbdmit soihnaﬂ/a,att—-l%/ﬁl“o $61s.

| 16 ‘% | Therﬂesmof

_l &y Vosi amd. Vosz.
. alo-% il a{-—

v ,{ed: the ve-

= sitomees o:ff

the creuit 0 e &th Lo= AVT UL/t To,

A=Ro(RRs ) R,=00. To fiid To, comsider a shent -
ot foud fo puinplicity. To= V(s ; meorsy,
le = [R‘/(RI*RZ)]%Q =Vpy= [ Ry /CR**Kﬁﬂvz + Vosy.
Thas gty Lo= (Tl{z;) Lvosz "‘(“‘ m')vcsl] MGCUE-

m&mwwm%f R 3 :—- bsz.

(H— -—[f@)vf;sl .
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_S_li_{ (a,) Eo= (4*{95‘1,0)%5:_ 1ot %5)‘ ’Eo (ood)lé

I (5x9ex 25)= 1.25 v, |Bo (25°0)| £ 10 (5x19 %) %
(10-25) = 225V ; oppooile fmm%.

(b) NI i(VOS /RC){: 1'/\)—0(0): i[gxlﬁ'(’x
25 /(0% <107, +Wp (o) = £ 125 € +4, (o)) g (€) =
3 2.55¢€ 00 (0), |

IS_.\S’ = _ -6 VIV,
L___ W2 CMRR g, = 100dB = VCHRR. = 10 Viv

Uo U _ HCMRR
'"Z’Q”cm!z’” CMR 2. v

VLoV 207R
R R = amrr

¥ R‘ M R}
J ‘I& Ro= /i = ~ FeMrR= =500 MR,
Theoutput rpslamce L

ougatioe memc) y dojomibit o ochalle s

Ao (o deoweamn) mith Ugy .

) P T (3 G

e e
%é “I% -'tf"r/mzfv‘os/fa.

' Z%so Ve
Lemm&/v“ 050 *+ Er’*i?zT?. At "'C” R CMRAxRIZ

L=

Voso /(R{Z) =2 mA

=Y W
R{zé) ECMKR- "E IRO[:'S GAL.




ASW%C'A‘OWW AL /rweheﬁff’_m&%"»:
| Vo5 deoreass mith A% - thom Ro=+5 G,
= RC= + 5, 0y () = 10 V; g ()= 10 (1-€ ) 7
U= 2 (Ve + Vos) . Thest axpatrmins horbd onby o
2. Vs ,{,amm_mt&f%)m Ro=-561,
T=-55 , Vg (£)= 10 (" 5-0) T, 0 = (U +Vos),

5.1 |
h ke Ay, = Re /e
Re
Mg on | | Avmt::g—,’{wa AVEM(M)" R,WZA% )
Ry Rz A = M
- 05 C M RQOA
A’DEM (oA ¥

o[, e . r\ P AUcmea
A%—(H K!)AV&SH(H"E‘; RJ'HZZ. CMK&OA

— A‘D“O - RZ-' | _ 1
T Avzmaa

R—l CMKKoA— 9[4‘51, CMRROA
CMRRpp 2 A—dw/?dfom = CMRR 5 .

; 5.1% @y CMRR DAM): CMRK%W) =70 dB.

() Agpligung Al on = 2.V tytelels

N 1V 100x)

Mbtﬁbqaam«fo MQ;_CM/ZI&. M/o'w,efvm)/@«g/
& (224 ) frsdlge jonlbabance gptlds

e~ s 002 2 o1

AT,

29. eV The mott—cane Scemanio scewry when




Hhes ontpait loms ant meximized amd comfrint, ad~
dibwely to At |Ap ) s = 3161346 =712 mT,
Thew, Aomlmet = VA AV omy = 0TI /1 =

00102 VIV, . CMRR ety = 20409, 55107 =

6%dB. mmwmméj a /s nowslomee
Jolaramee com WW CMRR. dueTo The Lrapic.
op iy Sy s much an T dB.

5 | Assumung, perfecty mmodcad, pumtamcs, e
Horve , by Prodr. 51T, CMRRpa= CMRRy, = 90 dB
ot 1Hz, T6 Bl 1 kHz, amd 66 olB ot 10 kHz.
The coneponelimg WWS of Vos are,

wely, A 7Y/ 10727 2316 WV, 158 4V,
and 501 pV. Mallipbynt by The mese gasm,
which i 101 VIV, gt //mfeem;%, W & 3. 2x
mn, 2t ¥y {6 pn 210" £ anVy 50.6p0m Tt o€ .

bWl R R, R, Rz

s

+ + HVq
AV{M '[ MNps 2. T

DVemtiy .
= By imspection, AV om) =AW a5

~ M . -
Koy & Bose = sy A= An (KVos -AVo)

The wmit—case sconanco ocowrs mhon the tbwe™




90 = Ao <18 g = 2 Dy [CMRR 0y 2>
Pom (mas) = 10slmnas [A0Cpa i) = 2A o | CMRRo iy =57

A
Ly

- OV &
b) Alpfpag) = 10052 % r & Le iV

= ;lf‘z‘CM mo&(m) '

5.1
A'UE:MOA A
@]
8 e (0288 ()

Bb vks‘)eciﬁm/ A,{TCM (OA'D = AIDEM (th) = AUC\ZM (JI) :A/I'EM(M) ,
By Problow. 51T, CMRRy = CMRRy, po The
cobvidrition of, Ok Ao Ao ovpt i

By = Aam (my M ()~ AL A,UEM(M) / CMRRUAB .

The Ywb~staste. conrilrudion T Ahe ovdpul s

Moy = Ar A (Vo - AVs,)

=AAg (A'U&M(m) /CMKROA{" BOcminy /CMR&H&)'
The sgvil~cane seenanio ecewns whanthe cowlni-

AV} = 1% e + ]85 5| v

My (18 [A;AI[ (Cmf{ﬁom(n\;ns ' CMRRonz(nuﬁn))
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A
+ CMREO;% (/"""”D ‘l ACLM AA%M(IA‘) \:CMRKDA | (owir)

{
s >

Ao () = VA5 s /Afzfmm-"’wi -

| - ) - [ + \ +
' ' [
(H— Zﬂa/ﬂﬁt) CMM@%(M)

For makehad op s Vs poisplifion to.
CMRRAgmiy = MRRor iy [ L2+ o0y |

& Su%amg/ﬁa% W——sﬁ&a&aﬁvm
Sowond -shole CMRR Aimiladtion cam bt cpmered
companed T The postl sloge's.

M R Uy (l:l ’%(0): [0 V;

> b = [p5 4%
W, qr,\; _ar/,a,
0~ /R= J.(’lfy “Up)/dt . Mg ft);\; and.
rolledim e Uotb)= - d%éé’)/e{f/ whers
(IR Z W5 xlpS xly = 005 . The sobu~

Jia 4 Ay () = 10 e‘*f/“"m V. abick.

ve —
MMMWM wit, a 100 -3




sa5 |
| e “)5" a,(q,q: +V;5 "'{UB') =
_ ' ' _
L (o)
0S - "'-V;
Ve - UV 2 Vs~ Vr/a .

Loltally, a7y =07 5 omax depastane, of 0 fromn),
/2 2> A5 ) = "[lvbslm +glle] .

@) Vr=0 = Mipimay = ~Vosp > =3 mV:

) =10V = DY feey = -(L\/jso +10 /1" +
10/107129) =~ (34142) mV = =5 mV.

(&) AV =3V = AV = 3/107¢%= 0.6 m V.
Thi, wh (2) me fare. A fmary=-3. 6 m V) and
wn (b ) e fant AV o) = = 5.6 omV

S| @) 8y &5 (552), @ 16], mismatcle

hdburton Ag( and Agz g/il&us/a, {0/.50 S —
e ch. febieon sy amd_ Tsz . 89 Eq. (5.%0) ,
the, %Cm{/) MNos =Vt b 1.0} Z 001X 26 mV =

0.26 mV,
() A wvell lowaron. junleof Thumd- ates

MWW&L @croks o pm j‘maﬁa{«
Aranﬁeoﬂnzfa/%th 2 mV/0 . Wet&mwd/aiz
thet & 1€ W&m Q) omd 8y wild
gpdé{ AT/(;'S = Zm V.




2 = - .
5 5 USL K‘) /Q, 100 k11, T/M/ CI(!’YMQX) = é
mVH100x(97 2 200516 1 = 26 V. D ~30 mV

S ¢ D0 mV fo safhiy . Vse Ro= 100 kA, Rg =
100 kA, Rp= 200 SL.

5261 Ry= Re=0 = E,= (14 104/10) Vy, =

1000V = Vo= O.HE mV. Ri=1 M2 omd
Rp=0 > Ep= 1000 (Voo + RT,) . Thas,
Iy (0230/1000 0.48 x 10 3) 106--025
- mA Mgw IN;f,ﬁmuaauﬂio;ﬁm
| oréwfr Ry= 0 amd_ R, = IML = E, =000
- %(Vos = Ro.Tp) = Tp=-(0.7180 /1000 -

0.48:x1677)/10¢ = = 0.3 A, Mowwis ot

oA e o T, L = —-(025+o'3)/2.
= 0.275mA  oubo io&cwr _Los-——SOFA

_FEU Mt dC)‘tﬂLouflou‘/tho £ DUT s such Hhat
@5‘@/105’*@””)/!05, N = Vi . The fwrwfs
M,W%) Wy = ~RnIn omel Up =

100/ (100 +149,900) | Uy -~ RpTp , mrhene R ame Ko
ane the a{c,/m,%meomm o DUT!s i
(wfcs. S e LT A %//Q/ gives
Va.= 500 LRFIP Ron Ty ~ Voso — '_"] gq.()
(&) Wbb{/\, gW115wl: M M/BUCVU‘@/ QP::




Rn=1000L % 000 With, 0, =0, £4. (1) peducer
=500 (<Vos0); anpfn ~015 2500 (~Tpso) yine>
Vvéo = 4.5mV,

| (b) We mow have Rp=105.0 andBg. ()
Mecamto W= 500 (ReTp = Vo), o1 0.30 =500(f0%
~1.8mm), which Bver Tp = 21 mA.

€) Ry =107, W = 500 (~RenTy ~TVpsp)
~L10=500 (-105Tp - L5mVY), Ty = (A mA ; Iog=

IP"“];M: 2 mA,

@) V=] ~Vso - (-10) /a7 | -6.25 =5oox
-LEmV 0/ e DRV,

5.0 % Cq,) EO::'V‘.|.’V'0S . Mw-

) o= 4RIy +Vy = URTN +Vp
— =UR L + (Vs - RITp)

>_a) = R([H:N“’]:P)*VBS.




5al‘| Ca,) 2

r—AN——y

= RIn+Vy :KTNFVPI
= RIn+Vps +V1 .

>_TEO W&WQ\Z

IPT‘”L‘“V:, 0-V Vi-&
S ?le Ip-l- 7)12.
_I 2% V3R Uil Vo

=4 |5Vos HR(STN-6TP ] -

KVL: W= VM‘VBS‘ kCL

Eo-(VitVos) Vs
ae " sr T + 1

% KCLQJ&cwl»:

VES_D;—rY_l

ElVMaI&nkTﬁ Eg 2 Voo +R(4In =T

550

V. Vit Vos V2

KlL®Vis 0-Vi_
R

'L _'_Vl CV"'VOQ - Tp- 'Vp

\(.OL@V Vl‘(,vl‘]'\]%) 1; +Vl*\’0$"\"’2,
(A3 TR




Vi *Vos—-\/z Vz-Eo, V2
KCL@V 3 o ¥ 7K

EO«':’LtVog. ‘l’L”((ZLﬂ:N gj:?)

051} @) With =0, B = ALy #Vn

R 2 R¥% Vs
mjv,. (b) With Rp=R,
— Eo 7% T@s ~R T S |
Vs L €) B (mad) =0 2+10%x(6
Re % Trp =20V, To bl o,

i el RpTo e nmniodrle vo U:a%z,
2V 2 Ux € +2mW

ﬁ‘ R W M Suptrpanilion and KL

I & R 7 V=V + RIy-R,Tp
‘ :-{Eo }
Vos . (Eoﬂvﬂ)/RZ"IN + Vi /R

Rp% ?IP {?Wg Vi W
= Ep= (i +-—§f~) ['%5 - QPIP + (Pvt R\“ﬂz)IN]




To mimimize mM*MowwwﬂfmJ MR &
FET’%M%W,MMM@ ummy- 10~
Stance Rp= R+R/JRy & 1 Mfz/a,r%a avbicl
Ep = (1#Re/R) [V ~(R4R/1R2) Tos ] = 101 [Vgs-w‘rw]_
To mull €p , neliinm Rp Ao %Wﬁem&%g;
A mt&mmw -V, Vg eV, mbant
Vo7 \@sW)HU"Iogm).

5’ 47? R’L. Ql Rl I'Z'z_

Osi T 0527

Swiece The OF—éZW A mr;wf Hrosr—cunnent, com -
alloTion, Absnt in cno ot mosiof Apmorns paist -~
omees ot the m,owmm)ﬁmé smpuls. The Sup -
porlion prupnciple ginen, fon om > 0,
B2 (M) (Vo2 Vo) ~ e R Ty + R T

= (1 7e/R) [Vosa Vo + (R [RTa2~Tre) )
Eomar) = 100 | 2Ws(man) +2(Ril|R) Tg pmeny |

=200 | Vs ex) +RUIRD) Tg (a1 -

5,*%% Ry amd Ry Sothat CRI”RZ)IBWD &
Vogcm) , L lez?; = R{”(‘]Wt) 2Ry« (80/WV>/
(H0 mA) = 2kR . Potmslame, e R(= 20000 R, =




9.9 ki W)Wtffw Um =07V, Ep (max ) =116 ml.
R/cmg e To 10V oﬂm/g,m Vosy #mek Vpg, L.j
A nMMogww) @) /10" = 20 WV V. Moreom,
Vist MWW@MC{%: (i) =
10/10° = (M. We thaws Jane, fr gy =10,
Bofmary S [T omV + 100 (21+20) 4wV = 2077 m V.

5% | The prescace fthe Jws cwnenln and offet
mv&ﬁ,&ﬂ: vb&nﬁta{ﬁvﬁﬂommmz(/%g oncut
ot 0l & and Ry To nomann the parme . The
MI-(M/M% FW@QM owt}ufwwz T,

Ko

Rpl% : IP‘! Rr?_ TIPZ,

To= Vi (R +V2 [, . Ma,mdf diipred crenid

MM@%W KRy <« Ry ;Fa'\ %meng//ﬁow'—e/

meed o mimimale V, Wym«ﬁw :

Vo= =1+ R /R)(VOS?. Rp*zl“}'—’z)'f K,INZ—-{/{,/R,)—W,
= 2 [ Voso =Rpp Tpp + (R/2 )Tz} - V.

2 Usg. Rpp = Ry /2 Fo mwionimize +ffectef Too .

Vg = [1+ 0 /(RIR)] (Vosi- Ror o) +R1 Ty




- (24 Rulte) { - By Ty +{(61R2] Ty
= Use./ RPI = (ﬁl/z-)“ Rz/'f}} M/mg,-ffw ﬁ“[( Ig( .
Wowl - cane. OW{TM g thow

Vost +2p 1 R «
Tofmar) = — oy L3 +‘['§% ?’2-%52.1* = Tosz +

R _
(24‘ -i-Z:L;,) (%5! + Ep[ IOS!)} .
To bl Ty, patin Rpy To %W&WELW)
V£ Vi 6T, o7 255 + R Ton +3(Wosi+
Piplﬂfg;b NU'RW“HLL OVQ‘(-’bQ){‘ P LR 7 3

5.55 | @ Vi (13 0/R) oy SvrevFosuEwn

| EO:—VE?SZ’I' /IR (Vbsl "—Vési) >
() Ligk s nwmxwzi:wgmpd'

e rélwm b Ao o vronialile. volle
Vo e Vi e Vo, Vo = Bomed 1+ R-z,/(R.ll(L)j




5%

KCLs (EO“V%?)mT— Vosz/Q: ‘i‘(_VOSZ"'V)/R /WRW/
\/‘ = (H— R/Rl)(%‘sl‘l'Vosz.) ELimimaliif Vy ;0
Eﬂ VOS'L - tflq,/(lz.\ R)]ng( .
() Loft 0A's mowmwentinig mrput and
peliven, & T &Wee/m&ﬁga V&, -V, £Vx
€Y1, Vy % Vosg imacy + LRe (R R) Wost G

5 37 F\,& 7.\ Eo= Voo - Rlos . EO(W)- |
”-{-lo x?_xl09 I V. 'F\,& ZZ. /w;AM% |
M o, foruwiieiple, Eo= Req Iy +
(b (% Kp L), mrhine- Reg = (1+
20/|oo+?.o/2 26)100 = IMIL , 1+R [R=
9.8, ((tR2 /R) Rp= 1ML, T)P«ws Eo =
(|+RL/R)%S Qecl OS)AmA,EC,@W)z
9 8,‘10"3 3 19@,.:2)(_[9 9= 984+2 = Hgmv

Wike the conlnitnidion M Los,w?bﬁt some,

that frow Vi r sk fongen o e

mmtm;am dt;tﬂwb
Mt mpise. E
/www«)? Xr;)l‘/qtmlﬂlz/R: M Mhe peomd. %M
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5] b eguinalsak s 25 shown:
Eo=VostReTn 2V Ty
2 [y 74+31bxlo’ ¢ Spxio
o Eo =165 mV. Tomomm-
0s1 4Zze,lth,m¢(wfexw)
M. g dummin trislance Rp= Re=516 11
TNM/ EO '::-.Vos" RL—E% )/Wﬂﬁl (Eo}m-:
0?7 +3)6x107x GXI V= .58 V. Tomll
Hhar porsiduad o, petron. Rp o o
WM/VU%&Q/V;‘(, “dmV & Vy <3mV,

7| e mominaoorti | gl $225 . de
iz \r—-—-‘ﬂ- WW%&MZ
> ? -V; p :%’.GM)MHLL
P ¢ R < AAZWZSMPJ:
o W ntes A de postance
7 Q{WR@: (.40 Z«R,
M itho soaﬂx,w Rp /to/a,/c,&cfw/
RecliRg = Rty moude poboimin Samd_
e foane trom son Ty o }M/\M,M&\.
Wm/xgﬁmw Rp= Rty ~ Rac// Ry =

'L,J-L [z

25.7 ) as Showu. P Il sane mt ot




6= (l‘l’%i)[%g - (Ri¥02) Tos) , | Eolomar =

2.3 (I67+%L6xp7% 5X1677)= 3. U mV: o
odl it | pelunm Rt
A havable soblfe
v -3, 6mV £k £3,5mV
oS GM&M

5o ) oth. conenits hare & de W
VO‘? To Mmm‘ée,m
//WLM/Q/

IF’ m M%S'te’t 125
f = Rx- CRA'//’ZE)
YT Thew T
e sin By (110/n) (Vos = RxTos).
BlomplL 3.1%: Rx=Re= 2250k, =
22.5- (pl[28T)= 15 kL, lEolm b36><
(1+ 25x107< 5x15 )= W3 mV
e“xw&%m Cx=20= 530k, Ry =
5.\ - 0.870 = 57kl lED[Wh(’—l’I/)Z)%
(lo""+5%\x!ox5\xlo") Lt"[b(mﬁ/

AT HV T el tﬂtw
N STQA»HZA Muse,
thoné&m 5’

> v as 9Iwm




KCL: Vpsz-Vosi L 0=Vost (2Vos5 - Eo) ~Vos, -0
AR R, R

7 Co= 2Vps3 - (H‘ 'L+ )Vosl %G{z

omay = [ 2+ '+T+'B+'ﬁ'8'ﬂ*"_l_]5’“9 = 1,3 V.
To el Eg) petrm. Dl s WM& /vw(:uif?;

2 (Vpgy +W) = 1.28Vpsy + 0025y, 20 = [V fpor=

8.2 mV, IU’\%%/NM)&L ~OmV & Vx € 0 mV,

X .

Mg

o%t 50 L
~\.5V 1 [ 7
z.sv-.u-.-f_'«\(% N :

0 76 (@QAs, m%t,smgis
—2.5v P L3V, sk clips ab £ 2.5V
Lv % b0, peaks ok

""" Lo B\ad L
0 e *(315-425)=t LV

eV 1 (D)% = 126 st V-




SUS | @) 4= 10/2 =5 mh U = 00275 =

0.1%5 V} Q!r; = 0—%—) Leis :O/‘ 4}6_{4 =l = ‘.{wﬁr)‘
Pau=[15—(0+0.135)] 5= 24.2 mW; Vp,,>10+0.835+
D1- Hx01 = .77 V.

(6) 10/0.2250 mA > 07/27 = 26 mA <>
Ko 26 mAy 4, E 02K =52V Loy EdoE

QG?/MA) L.z 0.18 - 26/250 =76 mAY Py =

cis
(15-5:2)26 = 256 W, @y, chore o Vee.




